Stormwater - SE Hackamore Drive (#8248606)

Owner: Lee's Summit MO, City of Solicitor: Lee's Summit MO, City of

08/31/2022 03:00 PM CDT

Stormwater - SE Hackamore Drive				Engineer Estimate		Wiedenn	
Line Item	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	
					\$586,217.50		
201	As-Built Survey	LUMP	1	\$5,000.00	\$5,000.00	\$2,900.00	
202	Clearing and Grubbing	LUMP	1	\$5,500.00	\$5,500.00	\$14,600.00	
203	Concrete Curb and Gutter Type DG-02	LF	146	\$40.00	\$5,840.00	\$64.00	
204	Demolition and Removal	LUMP	1	\$30,000.00	\$30,000.00	\$4,500.00	
205	Embankment in Place (Fill)	CY	70	\$50.00	\$3,500.00	\$40.00	
206	Erosion and Sediment Control	LUMP	1	\$20,000.00	\$20,000.00	\$7,500.00	
207A	Earth Excavation	CY	15	\$28.00	\$420.00	\$60.00	
207B	Rock Excavation	CY	16	\$190.00	\$3,040.00	\$200.00	
208	48" Fence	LF	28	\$55.00	\$1,540.00	\$170.00	
209	Fire Hydrant Assembly (with New Hydrant)	Each	1	\$5,500.00	\$5,500.00	\$7,100.00	
21	Granular Backfill	CY	5	\$55.00	\$275.00	\$600.00	
211	Mobilization	LUMP	1	\$53,000.00	\$53,000.00	\$38,000.00	
212	Pavement Removal and Replacement	SY	102	\$85.00	\$8,670.00	\$150.00	
213	Ledgerock Paver	SY	60	\$40.00	\$2,400.00	\$98.00	
214	Protection and Restoration of Site	LUMP	1	\$8,500.00	\$8,500.00	\$14,500.00	
215	Redi-Rock Wall	SF	668	\$50.00	\$33,400.00	\$95.00	
216	4' x 6' Reinforced Concrete Box Culvert	LF	90	\$615.00	\$55,350.00	\$812.00	
217	Reinforced Concrete Headwall	CY	6	\$900.00	\$5,400.00	\$5,700.00	
218	Concrete Sidewalk Removal and Replacement	SY	31	\$50.00	\$1,550.00	\$120.00	
219	Sodding	SY	2415	\$11.50	\$27,772.50	\$10.00	
220A	Storm Sewer Pipe - 15" Cured-In-Place Pipe (CIPP) - 075mm	LF	197	\$100.00	\$19,700.00	\$225.00	
220B	Storm Sewer Pipe - 72" Class III Reinforced Concrete Pipe	LF	441	\$360.00	\$158,760.00	\$680.00	
221A	4' x 14' Double Curb Inlet	Each	1	\$11,000.00	\$11,000.00	\$22,800.00	
221B	9' Diameter Area Inlet	Each	1	\$16,000.00	\$16,000.00	\$30,300.00	
221C	9' Diameter Manhole	Each	1	\$15,000.00	\$15,000.00	\$27,500.00	
221D	9' x 9' Curb Inlet	Each	1	\$16,000.00	\$16,000.00	\$22,200.00	

221E	9' x 9' Precast Concrete Junction Box	Each	1	\$20,000.00	\$20,000.00	\$21,200.00
222	Traffic Control	LUMP	1	\$6,000.00	\$6,000.00	\$3,900.00
223	Utility Relocation and Coordination	LUMP	1	\$15,500.00	\$15,500.00	\$1,000.00
224A	8" 11.25 Degree Bend	Each	4	\$900.00	\$3,600.00	\$600.00
224B	8" 22.5 Degree Bend	Each	2	\$900.00	\$1,800.00	\$600.00
224C	8" 45 Degree Bend	Each	2	\$850.00	\$1,700.00	\$600.00
224D	8" to 6" Reducer	Each	1	\$700.00	\$700.00	\$400.00
225A	6" Water Line (C900 PVC)	LF	16	\$125.00	\$2,000.00	\$225.00
225B	8" Water Line (C900 PVC)	LF	132	\$150.00	\$19,800.00	\$200.00
226	Water Meter Relocation and Reconnection	Each	1	\$2,000.00	\$2,000.00	\$2,500.00

Base Bid Total:

20% Contingency

**\$586,217.50** 117,238.00

\$ 704,000.50

nann Inc	Redford Construction Inc.		Orr Wyatt Streetscapes		Radmacher Brothers Ex	Infrastructure Solutions, LLC		
Extension	Unit Price	Extension	Unit Price	Extension	Unit Price Extension		Unit Price	Extension
\$843,699.00		\$965,100.00		\$968,436.00		\$1,353,256.50		\$1,499,800.50
\$2,900.00	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	\$2,200.00	\$2,200.00	\$4,172.50	\$4,172.50
\$14,600.00	\$40,000.00	\$40,000.00	\$38,400.00	\$38,400.00	\$15,600.00	\$15,600.00	\$16,690.00	\$16,690.00
\$9,344.00	\$50.00	\$7,300.00	\$49.50	\$7,227.00	\$46.00	\$6,716.00	\$186.50	\$27,229.00
\$4,500.00	\$20,000.00	\$20,000.00	\$19,700.00	\$19,700.00	\$67,800.00	\$67,800.00	\$131,223.00	\$131,223.00
\$2,800.00	\$50.00	\$3,500.00	\$13.00	\$910.00	\$62.00	\$4,340.00	\$182.00	\$12,740.00
\$7,500.00	\$6,000.00	\$6,000.00	\$4,400.00	\$4,400.00	\$690.00	\$690.00	\$4,876.00	\$4,876.00
\$900.00	\$100.00	\$1,500.00	\$110.00	\$1,650.00	\$49.00	\$735.00	\$239.00	\$3,585.00
\$3,200.00	\$180.00	\$2,880.00	\$330.00	\$5,280.00	\$130.00	\$2,080.00	\$244.50	\$3,912.00
\$4,760.00	\$100.00	\$2,800.00	\$330.00	\$9,240.00	\$550.00	\$15,400.00	\$559.00	\$15,652.00
\$7,100.00	\$8,000.00	\$8,000.00	\$7,100.00	\$7,100.00	\$10,700.00	\$10,700.00	\$10,695.50	\$10,695.50
\$3,000.00	\$100.00	\$500.00	\$110.00	\$550.00	\$640.00	\$3,200.00	\$223.00	\$1,115.00
\$38,000.00	\$10,000.00	\$10,000.00	\$27,000.00	\$27,000.00	\$178,600.00	\$178,600.00	\$46,885.75	\$46,885.75
\$15,300.00	\$150.00	\$15,300.00	\$118.00	\$12,036.00	\$450.00	\$45,900.00	\$437.50	\$44,625.00
\$5,880.00	\$100.00	\$6,000.00	\$143.00	\$8,580.00	\$570.00	\$34,200.00	\$452.00	\$27,120.00
\$14,500.00	\$5,000.00	\$5,000.00	\$8,765.00	\$8,765.00	\$14,300.00	\$14,300.00	\$50,013.00	\$50,013.00
\$63,460.00	\$150.00	\$100,200.00	\$69.00	\$46,092.00	\$210.00	\$140,280.00	\$73.50	\$49,098.00
\$73,080.00	\$1,300.00	\$117,000.00	\$1,644.00	\$147,960.00	\$1,100.00	\$99,000.00	\$1,621.00	\$145,890.00
\$34,200.00	\$2,500.00	\$15,000.00	\$877.00	\$5,262.00	\$8,100.00	\$48,600.00	\$12,768.00	\$76,608.00
\$3,720.00	\$100.00	\$3,100.00	\$89.00	\$2,759.00	\$580.00	\$17,980.00	\$310.00	\$9,610.00
\$24,150.00	\$8.00	\$19,320.00	\$10.00	\$24,150.00	\$7.70	\$18,595.50	\$12.00	\$28,980.00
\$44,325.00	\$160.00	\$31,520.00	\$247.00	\$48,659.00	\$230.00	\$45,310.00	\$272.00	\$53,584.00
\$299,880.00	\$860.00	\$379,260.00	\$897.00	\$395,577.00	\$810.00	\$357,210.00	\$909.75	\$401,199.75
\$22,800.00	\$22,000.00	\$22,000.00	\$24,125.00	\$24,125.00	\$24,800.00	\$24,800.00	\$37,750.00	\$37,750.00
\$30,300.00	\$25,000.00	\$25,000.00	\$16,450.00	\$16,450.00	\$30,500.00	\$30,500.00	\$43,056.00	\$43,056.00
\$27,500.00	\$25,000.00	\$25,000.00	\$18,650.00	\$18,650.00	\$30,900.00	\$30,900.00	\$42,375.00	\$42,375.00
\$22,200.00	\$22,000.00	\$22,000.00	\$16,450.00	\$16,450.00	\$24,200.00	\$24,200.00	\$36,700.00	\$36,700.00

\$21,200.00	\$22,000.00	\$22,000.00	\$18,650.00	\$18,650.00	\$24,000.00	\$24,000.00	\$37,399.00	\$37,399.00
\$3,900.00	\$5,000.00	\$5,000.00	\$8,775.00	\$8,775.00	\$2,200.00	\$2,200.00	\$4,381.00	\$4,381.00
\$1,000.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$24,800.00	\$24,800.00	\$92,452.00	\$92,452.00
\$2,400.00	\$450.00	\$1,800.00	\$880.00	\$3,520.00	\$2,400.00	\$9,600.00	\$502.00	\$2,008.00
\$1,200.00	\$590.00	\$1,180.00	\$880.00	\$1,760.00	\$2,400.00	\$4,800.00	\$523.00	\$1,046.00
\$1,200.00	\$600.00	\$1,200.00	\$880.00	\$1,760.00	\$2,400.00	\$4,800.00	\$523.00	\$1,046.00
\$400.00	\$400.00	\$400.00	\$550.00	\$550.00	\$2,300.00	\$2,300.00	\$427.00	\$427.00
\$3,600.00	\$190.00	\$3,040.00	\$44.00	\$704.00	\$270.00	\$4,320.00	\$240.00	\$3,840.00
\$26,400.00	\$200.00	\$26,400.00	\$175.00	\$23,100.00	\$250.00	\$33,000.00	\$176.00	\$23,232.00
\$2,500.00	\$900.00	\$900.00	\$1,645.00	\$1,645.00	\$3,600.00	\$3,600.00	\$8,585.00	\$8,585.00
\$843,699.00		\$965,100.00		\$968,436.00		\$1,353,256.50		\$1,499,800.50